



Unique Common Fixed Points For Maps With (ψ, α, β) - Contractive Condition In W^* -Spaces

K. Pandu Ranga RAO^{1,♦}, K. Rama Koteswara RAO², K.V.Siva PARVATHI³

¹Department of Mathematics, Acharya Nagarjuna University, Nagarjuna Nagar -522 510, A.P., India.

² Department of Mathematics, GITAM University , Rudraram(V), Patancheru(M), Hyderabad-502 329, T.S., India.

³Department of Mathematics, Krishna University-M.R.Appa Row P.G.Center, Nuzvid-521 201, A.P., India.

Received:09/01/2015

Accepted:18/04/2016

ABSTRACT

In this paper, we introduce W^* -spaces which generalizes W -spaces introduced by Piao and Jin [10] and prove three unique common fixed point theorems in it. Some illustrative examples to highlight the results are furnished.

Key Words: W^* -spaces, Converse commuting maps, Common fixed points.

1. INTRODUCTION

In recent years many researchers have done much work in metric spaces, symmetric spaces[9, 3, 4], D -metric spaces[1, 2], D^* - metric spaces[6, 7], G -metric spaces[12, 13], Partial metric spaces[5, 8] and so on. In this direction Piao and Jin [10] introduced the concept of W -spaces in 2012, which is weaker than the notions of metric and symmetric spaces and proved some fixed point theorems.

In this paper, we introduce W^* -spaces to generalize W -spaces and proved three unique common fixed point theorems in it. We also give examples to illustrate our theorems.

First we state the following known definitions.

Definition 1.1 Let X be a non-empty set. If a function $d : X \times X \rightarrow [0, \infty)$ satisfies the property that $d(x, y) = 0$ implies $x = y$, then (X, d) is called a W -space.

Definition 1.2 Let f and g be two self mappings on a non-empty set X .

- (i) [11]. If $fgx = gfx$ for some $x \in X$ then x is called a commuting point of the pair (f, g) .
- (ii) [11]. If $fgx = gfx$ implies $fx = gx$ for all $x \in X$ then the pair (f, g) is said to be converse commuting.

Now we give the following definition.

[♦]Corresponding author, e-mail: kprao2004@yahoo.com

Definition 1.3 Let f and g be two self mappings on a non-empty set X . We say that the pair (f, g) satisfy Property (K) if there exists $u \in X$ such that $fgu = gfu$ and $fu = gu$.

Remark 1.4 Definition 1.2 (i) and (ii) imply the Property(K) but not the converse in view of the following example.

Example 1.5 Let $X = \{0, 1, 2\}$, $f0 = 0$, $f1 = 2$, $f2 = 1$ and $g0 = g1 = g2 = 0$. Clearly the pair (f, g) satisfy Property(K). But $fg1 = gf1$ and $f1 \neq g1$.

Piao and Jin [10] proved the following theorems.

Theorem 1.6 (Theorem 1, [10]) Let (X, d) be a W -space and f and g be two converse commuting self maps which have a commuting point. Suppose that $x, y \in X$ with $d(gx, gy) \neq 0$ satisfy $d(gx, gy) \leq \varphi(d(fy, fx), d(gy, fx), d(gx, fy))$ where $\varphi: R_+^3 \rightarrow R_+$ is such that $a \leq \varphi(b, b, a)$ implies $a < b$ for all $a > 0$, $b > 0$. Then f and g have a unique common fixed point.

Theorem 1.7 (Theorem 2, [10]) Let (X, d) be a W -space and f and g be two self maps which have a commuting point. Suppose that $x, y \in X$ with $d(fx, gy) \neq 0$ satisfy $d(fx, gy) \leq \psi(d(fx, gx), d(fy, gx), d(gx, gy))$ where $\psi: R_+^3 \rightarrow R_+$ is such that

- (i) ψ is monotone increasing for the first variable,
- (ii) if $a > 0$, $b > 0$ then $a \leq \psi(a, b, a)$ implies $a < b$,
- (iii) for any $a > 0$, there is $\psi(a, a, 0) < a$.

Then f and g have a unique common fixed point.

Theorem 1.8 (Theorem 3, [10]) Let (X, d) be a W -space and f_1, f_2 and g_1, g_2 be four self maps.

Also let (f_1, f_2) and (g_1, g_2) be pairs of converse commuting self mappings which have a commuting point respectively. Suppose that $x, y \in X$ with

$d(f_2x, g_2y) \neq 0$ satisfy

$$d(f_2x, g_2y) \leq \varphi \left(\begin{matrix} d(g_1y, f_1x), d(g_2y, f_1x), d(g_1y, g_2y), \\ d(f_1x, f_2x), d(g_1y, f_2x) \end{matrix} \right)$$

and suppose that $x, y \in X$ with $d(g_1x, f_1y) \neq 0$ satisfy

$$d(g_1x, f_1y) \leq \varphi' \left(\begin{matrix} d(f_2y, g_2x), d(f_2y, g_1x), d(g_1x, g_2x), \\ d(f_1y, f_2y), d(f_1y, g_2x) \end{matrix} \right)$$

where $\varphi, \varphi': R_+^5 \rightarrow R_+$ satisfy $\varphi(a, a, 0, 0, a) < a$ for any $a > 0$ and $\varphi'(a, a, 0, 0, a) < a$ for any $a > 0$. Then f_1, f_2, g_1 and g_2 have a unique common fixed point.

Now we define W^* -spaces as follows.

Definition 1.9 Let X be a non-empty set. If a function $d: X \times X \times X \rightarrow [0, \infty)$ satisfies the property that $d(x, y, z) = 0$ implies $x = y = z$, then (X, d) is called a W^* -space.

Example 1.10 Let $X = [0, \infty)$ and $d(x, y, z) = \max\{x, y, z\}$ or $x + y + z$. Then (X, d) is a W^* -space.

Throughout this paper, let $\psi, \alpha, \beta: [0, \infty) \rightarrow [0, \infty)$ be such that $\psi(t) - \alpha(t) + \beta(t) > 0$ for all $t > 0$.

Immediately it follows that $\psi(t) - \alpha(t) + \beta(t) \leq 0$ implies $t = 0$.

Now we prove our main results which are different from Theorems 1.6, 1.7 and 1.8.

2. MAIN RESULT

Theorem 2.1. Let (X, d) be a W^* -space and $f, g: X \rightarrow X$ be satisfying

$$(2.1.1) \psi(d(gx, gy, gz)) \leq \alpha \left(\max \left\{ \begin{matrix} d(fx, fy, fz), d(fx, gy, gz), \\ d(fx, gy, fz), d(fx, fy, gz), \\ d(gx, fy, fz), d(gx, fy, gz), \\ d(gx, gy, fz) \end{matrix} \right\} \right) - \beta \left(\max \left\{ \begin{matrix} d(fx, fy, fz), d(fx, gy, gz), \\ d(fx, gy, fz), d(fx, fy, gz), \\ d(gx, fy, fz), d(gx, fy, gz), \\ d(gx, gy, fz) \end{matrix} \right\} \right)$$

for all $x, y, z \in X$ with $d(gx, gy, gz) \neq 0$ and

(2.1.2) the pair (f, g) satisfies Property (K).

Then f and g have a unique common fixed point.

Proof. From (2.1.2), there exists $u \in X$ such that $fgu = gfu$ and $fu = gu$.

Hence

$$ffu = fgu = gfu = ggu. \quad (1)$$

Suppose $d(gu, gu, ggu) \neq 0$.

Putting $x = u$, $y = u$ and $z = gu$ in (2.1.1) and using (1), we obtain $\psi(d(gu, gu, ggu)) \leq \alpha(d(gu, gu, ggu)) - \beta(d(gu, gu, ggu))$

which in turn yields that $d(gu, gu, ggu) = 0$. It is a contradiction. Hence $ggu = gu$.

From (1), it follows that gu is a common fixed point of f and g .

Suppose x and y are two common fixed points of f and g . Then $d(x, y, y) = d(gx, gy, gy) \neq 0$.

Then using (2.1.1) with $x = x$, $y = y$ and $z = y$ we obtain $\psi(d(x, y, y)) \leq \alpha(d(x, y, y)) - \beta(d(x, y, y))$

which in turn yields that $d(x, y, y) = 0$. It is a contradiction. Hence $x = y$. Thus f and g have a unique common fixed point.

Example 2.2 Let $X = \{0, 1, 2\}$ and

$d(x, y, z) = x + y + z$. Let $g0 = g1 = 0, g2 = 1$ and $f0 = 0, f1 = 1, f2 = 2$. Let $\psi, \alpha, \beta : [0, \infty) \rightarrow [0, \infty)$

be defined by $\psi(t) = t$, $\alpha(t) = \frac{3t}{4}$ and $\beta(t) = \frac{t}{4}$.

Then clearly (2.1.1) and (2.1.2) are satisfied and 0 is the unique common fixed point of f and g .

Next we give the following theorem without using the converse commuting condition.

Theorem 2.3. Let (X, d) be a W^* -space and $f, g : X \rightarrow X$ be satisfying

$$(2.3.1) \psi \left(\max \left\{ \begin{array}{l} d(fx, gy, gz), \\ d(gx, fy, fz) \end{array} \right\} \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(gz, fx, fy), d(fz, gx, gy), \\ d(gy, fz, fx), d(fy, gz, gx) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gz, fx, fy), d(fz, gx, gy), \\ d(gy, fz, fx), d(fy, gz, gx) \end{array} \right\} \right)$$

for all $x, y, z \in X$ with

$$\max\{d(fx, gy, gz), d(gx, fy, fz)\} \neq 0$$

(2.3.2) the pair (f, g) has a commuting point in X .

In addition to these, assume that α is monotonically increasing and β is monotonically decreasing.

Then f and g have a unique common fixed point in X .

Proof. Let u be a commuting point of f and g .

i.e $fgu = gfu$ for some $u \in X$.

Suppose that $fu \neq gu$.

From (2.3.1), we have

$$\psi \left(\max \left\{ \begin{array}{l} d(fu, gu, gu), \\ d(gu, fu, fu) \end{array} \right\} \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(gu, fu, fu), \\ d(fu, gu, gu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gu, fu, fu), \\ d(fu, gu, gu) \end{array} \right\} \right)$$

which in turn yields that $\max \left\{ \begin{array}{l} d(fu, gu, gu), \\ d(gu, fu, fu) \end{array} \right\} = 0$.

It is a contradiction. Hence $fu = gu$. (2)

Hence from (2), we have

$$ffu = fgu = gfu = ggu. \quad (3)$$

Suppose that $ffu \neq fu$.

Putting $x = fu$, $y = u$, $z = u$ in (2.3.1), we have

$$\psi \left(\max \left\{ \begin{array}{l} d(ffu, gu, gu), \\ d(gfu, fu, fu) \end{array} \right\} \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(gu, ffu, fu), d(fu, gfu, gu), \\ d(gu, fu, ffu), d(fu, gu, gfu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gu, ffu, fu), d(fu, gfu, gu), \\ d(gu, fu, ffu), d(fu, gu, gfu) \end{array} \right\} \right)$$

Hence

$$\psi \left(d(ffu, fu, fu) \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(fu, ffu, fu), \\ d(fu, fu, ffu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(fu, ffu, fu), \\ d(fu, fu, ffu) \end{array} \right\} \right) \quad (4)$$

Put $x = u$, $y = fu$, $z = u$ and $x = u$, $y = u$, $z = fu$ in (2.3.1), we have

$$\psi \left(d(fu, ffu, fu) \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(fu, fu, ffu), \\ d(ffu, fu, fu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(fu, fu, ffu), \\ d(ffu, fu, fu) \end{array} \right\} \right) \quad (5)$$

$$\psi \left(d(fu, fu, ffu) \right) \leq \alpha \left(\max \left\{ \begin{array}{l} d(ffu, fu, fu), \\ d(fu, ffu, fu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(ffu, fu, fu), \\ d(fu, ffu, fu) \end{array} \right\} \right) \quad (6)$$

From (4), (5) and (6), using monotonically increasing and decreasing properties of α and β respectively, we get

$$\begin{aligned} \psi \left(\max \left\{ \begin{array}{l} d(ffu, fu, fu), \\ d(fu, ffu, fu), \\ d(fu, fu, ffu) \end{array} \right\} \right) &= \max \left\{ \begin{array}{l} \psi(d(ffu, fu, fu)), \\ \psi(d(fu, ffu, fu)), \\ \psi(d(fu, fu, ffu)) \end{array} \right\} \\ &\leq \alpha \left(\max \left\{ \begin{array}{l} d(ffu, fu, fu), \\ d(fu, ffu, fu), \\ d(fu, fu, ffu) \end{array} \right\} \right) \\ &\quad - \beta \left(\max \left\{ \begin{array}{l} d(ffu, fu, fu), \\ d(fu, ffu, fu), \\ d(fu, fu, ffu) \end{array} \right\} \right) \end{aligned}$$

which in turn yields that $ffu = fu$.

Thus fu is a common fixed point of f and g .

Suppose v and v' are common fixed points of f and g .

Taking $x = v', y = v, z = v$; $x = v, y = v', z = v$ and $x = v, y = v, z = v'$ in (2.3.1) and using monotonically increasing of α and decreasing of β we can show that $v = v'$.

Thus f and g have a unique common fixed point.

Finally we give a unique common fixed point theorem for two pairs of mappings satisfying Property (K).

Theorem 2.4 Let (X, d) be a W^* -space and

$f, g, S, T : X \rightarrow X$ be satisfying

$$\begin{aligned} (2.4.1) \quad \psi(d(fx, gy, Sz)) &\leq \alpha \left(\max \left\{ \begin{array}{l} d(gx, fy, Sz), \\ d(gx, fy, Tz), \\ d(fx, gy, Tz) \end{array} \right\} \right) \\ &\quad - \beta \left(\max \left\{ \begin{array}{l} d(gx, fy, Sz), \\ d(gx, fy, Tz), \\ d(fx, gy, Tz) \end{array} \right\} \right) \end{aligned}$$

for all $x, y, z \in X$ with $d(fx, gy, Sz) \neq 0$ and

(2.4.2) the pairs (f, g) and (S, T) satisfy the Property (K).

Then f, g, S and T have a unique common fixed point in X .

Proof. From (2.4.2), there exist u and v in X such

that $fu = gu,$ (7)

$fgu = gfu$ (8)

and $Sv = Tv,$ (9)

$STv = TSv.$ (10)

Hence $ffu = fgu = gfu = ggu$ (11)

and $SSv = STv = TSv = TTv.$ (12)

Now suppose that $fu \neq Sv$. Then $d(fu, fu, Sv) \neq 0$.

From (2.4.1), we have

$$\begin{aligned} \psi(d(fu, fu, Sv)) &= \psi(d(fu, gu, Sv)) \\ &\leq \alpha \left(\max \left\{ \begin{array}{l} d(gu, fu, Sv), \\ d(gu, fu, Tv), \\ d(fu, gu, Tv) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gu, fu, Sv), \\ d(gu, fu, Tv), \\ d(fu, gu, Tv) \end{array} \right\} \right) \\ &= \alpha(d(fu, fu, Sv)) - \beta(d(fu, fu, Sv)) \text{ from (7), (9)} \end{aligned}$$

which in turn yields that $d(fu, fu, Sv) = 0$. Hence

$fu = Sv$.
Thus $gu = fu = Sv = Tv.$ (13)

Suppose that $ffu \neq fu$. Then $d(ffu, fu, fu) \neq 0$.

From (2.4.1) and (13), we have

$$\begin{aligned} \psi(d(ffu, fu, fu)) &= \psi(d(ffu, gu, Sv)) \\ &\leq \alpha \left(\max \left\{ \begin{array}{l} d(gfu, fu, Sv), \\ d(gfu, fu, Tv), \\ d(ffu, gu, Tv) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gfu, fu, Sv), \\ d(gfu, fu, Tv), \\ d(ffu, gu, Tv) \end{array} \right\} \right) \\ &= \alpha(d(ffu, fu, fu)) - \beta(d(ffu, fu, fu)) \text{ from (7), (9)} \end{aligned}$$

which in turn yields that $d(ffu, fu, fu) = 0$. Hence

$ffu = fu.$ (14)

Now from (11) and (14) we have

$gfu = fu.$ (15)

Also from (13) and (10), we get

$Tfu = TSv = STv = Sfu.$ (16)

Suppose that $fu \neq Sfu$.

Again from (2.4.1), we have

$$\begin{aligned} \psi(d(fu, fu, Sfu)) &= \psi(d(fu, gu, Sfu)) \\ &\leq \alpha \left(\max \left\{ \begin{array}{l} d(gu, fu, Sfu), \\ d(gu, fu, Tfu), \\ d(fu, gu, Tfu) \end{array} \right\} \right) - \beta \left(\max \left\{ \begin{array}{l} d(gu, fu, Sfu), \\ d(gu, fu, Tfu), \\ d(fu, gu, Tfu) \end{array} \right\} \right) \\ &= \alpha(d(fu, fu, Sfu)) - \beta(d(fu, fu, Sfu)) \text{ from (7), (9)} \end{aligned}$$

which gives that $d(fu, fu, Sfu) = 0$. Hence

$Sfu = fu.$ (17)

Hence from (16) and (17)

$Tfu = fu.$ (18)

Thus from (14), (15), (17) and (18) fu is a common fixed point of f, g, S and T .

If p and q are common fixed points of f, g, S and T , by (2.4.1) one can easily prove that $p = q$.

Thus f, g, S and T have a unique common fixed point in X .

Example 2.5 Let $X = [0,1]$ and $d(x, y, z) = x + y + z$.

Define $fx = gx = 0,$ $Sx = \frac{x}{8}$ and $Tx = \frac{x}{4}, \forall x \in X$.

Let $\psi(t) = t$, $\alpha(t) = \frac{3t}{4}$ and $\beta(t) = \frac{t}{4}$. Then clearly

the pairs (f, g) and (S, T) satisfy the Property (K) respectively.

Now consider for $d(fx, gy, Sz) \neq 0$,

$$\begin{aligned} \psi(d(fx, gy, Sz)) &= \frac{z}{8} = \frac{1}{2} d(fx, gy, Tz) \\ &\leq \frac{1}{2} \max \left\{ \begin{array}{l} d(gx, fy, Sz), \\ d(gx, fy, Tz), \\ d(fx, gy, Tz) \end{array} \right\} \\ &= \alpha \left(\max \left\{ \begin{array}{l} d(gx, fy, Sz), \\ d(gx, fy, Tz), \\ d(fx, gy, Tz) \end{array} \right\} \right) \\ &\quad - \beta \left(\max \left\{ \begin{array}{l} d(gx, fy, Sz), \\ d(gx, fy, Tz), \\ d(fx, gy, Tz) \end{array} \right\} \right) \end{aligned}$$

Hence the condition (2.4.1) is satisfied and 0 is the unique common fixed point of f, g, S and T .

CONFLICT OF INTEREST

No conflict of interest was declared by the authors.

REFERENCES

[1] B.C.Dhage, A common fixed point principle in D -metric spaces, Bull.Cal. Math.Soc., 91, No.6(1999),475-480.

[2] B.C.Dhage, A.M.Pathan and B.E.Rhodes, A general existance principle for fixed point theorem in D-metric spaces, Int. J. Math. Math. Sci., 23(2000), 441-448.

[3] M.Aamri, D.E.Moutawakil, Some new common fixed points under strict contractive conditions, J.Math.Anal.Appl.,270,(2002),181-188.

[4] M.Aamri, D.E.Moutawakil, Common fixed points under contractive conditions in symmetric spaces, J.Applied Mathematics E-Notes, 3,(2003),156-162.

[5] S.G. Matthews, *Partial metric topology*, Proc. 8th Summer conference on General Topology and Applications, Ann. New York Acad. Sci., vol. 728, 1994, 183 - 197.

[6] Sh.Sedghi, N.Shobe and H.Zhou, A common fixed point theorem in D^* -metric spaces, Fixed point theory and Applications ,vol. 2007 (2007), Artical Id 27906, 13 pages.

[7] Sh.Sedghi, K.P.R.Rao and N.Shobe, Common fixed point theorems for six weakly compatible mappings in D^* -metric spaces, Int. J. Math. Math. Soc., Vol. 6, (2), (2007), 225-237.

[8] T.Abdeljawad, E. Karapinar and K.Tas, Existence and uniqueness of a common fixed point on partial metric sapces Appl.Math.Lett., vol.24 (11), (2011), 1900 - 1904.

[9] T.L.Hicks, B.E.Rhoades, Fixed point theory in symmetric spaces with applications to probabilistic spaces, J.Nonlinear Analysis, 36,(1993),331-334.

[10] Y.J. Piao and Y.X. Jin, Unique common fixed points for maps satisfying contractive conditions on W -spaces, J. Sys. Sci. and Math. Scis., 5(2012), 601-609.

[11] Z. Lin, Oncommon fixed point for converse commuting self maps on metric spaces, Acta Anal. Funct. Appl., 4(3), (2012), 266-228.

[12] Z.Mustafa, B.Sims, A new approach to generalized metric spaces. J Nonlinear Convex Anal, 7(2),(2006), 289-297.

[13] Z.Mustafa, B.Sims, Fixed point theorems for contractive mapping in complete G-metric spaces. Fixed point Theory Appl, 2009, (2009),Article ID 917175, 10 pages